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1. Determine the voltage across the 10 ohm resistor

in Figure 1.
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2. A 2 Ampere current flows down the wire then around the
circular section then out the horizontal wire as shown in

Figure 2. The circular section has a 2 cm radius.

Find the magnetic field at point, P, the center of
curvature of the circular section of the wire.
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3. A current, 1r, flows in the long straight wire.

a. Find an expression for the force 
Figure 3

on the loop carrying the current, 1r, / I L \
as shown in rigure a Asi,,a.-. U L?.-* Fo) , "
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Physical Constants

.022 x 1023 molecules/molevogadro's Number

1 .38 x 10-23 JtK = 8.62 x 1o-5 eV

.67x10-8 J/1s.m2*K4;tefan-Boltzman n constant

1 .6 x 1o-1e Clectronic charge

1 .6 x 1o-1e J

.625 x 10-34 J-s

voltage, kT, at 300

3 x 108 m/selocity of light

Permeability of free space 1.257 x 10-6 H/m

.854 x 10-12 FtmPermittivity of free space

.1 x 10-31

Atomic Masses

9.0122 u

10.811 u

12.0107 u

20.1797 u

Magnesium

26.9815 u

Phosphorus

Thermal properties of Water


